F
i
Kt
¥
K
l
%\.
P
T
z

1) 8 5 (1) "
(112) 4a+9b 5 |3 ® >
m,;' /F?I-ﬁ\
[FEESJ - 5 5 \g/ @ < 4 8 )
1 Il ’
1 4 _ =
(f4) 3 5
[4 5 [Fﬁﬁl] I
[F:ﬂSJ X = 2 » V= 6 5
(Fi6) -7 —5 ”5 (M2) | @ | GE 99
» 4 wé AABPLAARPIZHEWT,
(17) R ' N
(W 5 BP = RP  ceeeeeeeiiiienns (1)
5 1 5 F QUK T B R A7 D
777777777777777777777777777777777777777777777777 L APB :900 (2)
(H8) | 22 mfmwmmm} ___________________ @DEV, AP LBR Zhb,
/JAPB = ZAPR  cceeeeeeeeeeees (3)
b 5 4
o AR
[Fﬁﬁ9] 0 6 AP :AP ..................... (4)

1, @), Wkv, 2oL

\ ZOMOANENETNFE LMD,

P
AABP = AARP
7\ b\ 2
g | 2
i1 \g/
(1) 1 5 & 3
(F2) | GE #) 7 ¢ 6
(1) R R e
FAEORIE L, DR S 7 e, " 0
O IVEHOMEOR SIZHE LW 5
EHWE»D, - 8
MERIE 2nr X b= 2n7h (2] =
EmEIL 2 &5, 3 1

L7=hoT, REHEQIL,
Q=2nrh+ 2nrz e (1)

0=2nr 2D,
0(h+r)=2nr(h +7r)
=2nrh+ 2nrz e (2)
0, @&,

Q=4(h+7r)






